Fraction of events

Ratio to CDF

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

1800 GeV ppbar Jets
oL L L L L L L L L I
10 = —
= E; (nj >3, pTl>1OO) 5
10 z—f/( =
_ ", _
107 & B E
= ey, =
-3 __ g ® __
10 = A | - =
— e A | ]
- L S - —
-~ m  CDF \%\r\\m\ s
107 = —a— Pythia 8.308 default [7 \"' B
— Pythia 8.308 tune-1 > -
B Pythia 8.308 tune-2c¢ : 7
107 = Pythia 8.308 tune-2m =
L = U TS U R Y U ST S B P =
2 E =
1 __KA\M_A\‘A —3 |
" \@ / _
0.5 _
I T T T S I T T
100 200

N



	Contents
	Page 1


